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[4] 794, and appropriate work is shown, such
as tanS52 = —.
62

|3] Appropriate work 15 shown, bul one
computational or rounding error is made.

or [3] An incorrectly labeled diagram is
drawn, but the appropriate trigonometric
function is used, and an appropriste answer is
found.

[2] Appropriate work is shown, bul two or
more compuiational or rounding errors are
made.

or [2] Appropriate work 15 shown, but one
conceptual error is made, such as using an
incorrect trigonometric function or ratio,

[ 1] Appropriate work 15 shown, bul one
conceplual error and one computational or
rounding error are made.

or [1] A correctly labeled diagram is drawn,
but no further correct work is shown,

or [1] A correct equation is wriiten, bul no
further correct work is shown,

or [1] An incorrectly labeled diagram is
drawn, but an appropriate equation is written.
but no further correct work is shown,

or [1] 79.4, but no work is shown.

[0] A zero response is completely incorrect,
irrelevant, or incoherent or 1% a correct
response that was obtained by an obviously
incorrect procedure.
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[4] 41.4, and appropriate work is shown, such
as 200 tan 28°-200 an 187

[3] Appropriate work is shown, but one
compulational or rounding error is made,

or [3] Appropriate work is shown to find the
correct height of the clill and the correct
combined height of the lighthouse and the
clifT, but they are not subtracted.

[2] Appropriaie work is shown, bul two or
more computational or rounding errors are
mude.

[2] Appropriate work is shown. but one
conceplual error is made, such as using an
incorrect trigonometric function.

or [2] Appropriste work is shown to find the
correct height of the cliff or the correct
combined height of the lighthouse and the
clifT, but no further correct work is shown,
[1] Appropriate work is shown, bul one
conceplual error and one computational or
rounding error are made.

or [1] A correct equation is written to find the
height of the lighthouse, but no further correct
work 1s shown,

or [1] 414, but no work is shown,

[0] The cormrect height of the clifl or the
correct combined height of the lighthouse and
chiff is found, but no work 1s shown.

or [0] A zero response is completely
incormect, irrelevant, or incoherent or 15 a
correct response that was obtlained by an
obviously incorrect procedure,
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